Name: Date:

Balancing Equations

Balance the following chemical equations.

1. 2 Fe + 3 HS0, —> 1  FexSOs; + _3
2. 2  CHo +_7 0, —> _6  HO +_4
3. _3 KOH + 1 HPO, —> _ 1  KpPOs, + _3
4. 1 sn0, + _2 H —> _1  Sn + 2
5. _ 4  NHg + 5 0 —> _4 NO + 6
6. 2  KNOs + _1 HCO3 —> 1  KCO3 + _2
7. 1  BBre + 6 HNO; —> 2 B(NOg)s + _6
8. _ 2  BF + 3 LiSO3 —> 1 BySOs); + _6
9. 4 (NHgPOs + _3 Pb(NO3)s —> _ 1  Pby(POs)s + _12
10. 1 SeCls + _ 1 0, —> 1 Se0; + 3
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Name: Date:

Balancing Equations

Balance the following chemical equations.

1. 1 CHy +_2 0 =—> 1 CO, + _2  HO
2. _2  Na + 2 CF —> 1  NacCl

3. 4 A + 3 0, —> 2 Ao

4. 1 N 4+ _ 3  H —> 2  NHs

5, _ 8 CO(@ + _17 Hx(g) —™> _ 1  CgHw() + _8 H,O
6. 1 FexO3(s) + _3 CO(@ —> _2  Fe() + 3 CO29)
7. 2 HSO, + _1 Pb(OH);, —> 1 Pb(SOs)2 + _4  HoO
8. 2 A + 6 Hl —> 2 AClk + _3  H
9. 1 Cay(POs), + _2  H,SO, —> 2 CaSO, + _1 Ca(H:POu),
10. 1 H3POq4 + 5 HCI —> 1 PCls + 4 H.0
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Name:

Balancing Equations

Balance the following chemical equations.

L1
2. 2
3. 1
4, 1
5 3
6. 1
7. 1
8 12
9. 2
10. 2

SiCla(l) + _ 2
As + 6
AupSz + 3
V205 + 6
Hg(OH), + __ 2
SiO, + 4
Zn + 2
HCIO, + 1
N2(g) + _5

NH4sNO3; —>
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— _1_
—> 2
—> 2
— 2
— 1
—> 1
—> 1
—> 4

Date:

SiOx(s) + 4

NazAsO3 + 3

Au + 3

VOCls; + 3

Hgg(PO4)2 + 6

SiF4 + 2

ZnCl, + 1

H3PO, + 6

HCl(aq)

Ho

H2S

H>0

H,O

H,O

Ho

Cl,07

+ 2 H:O —> 4  HNOs(aq)

02 + 4
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Name:

Balance the following chemical equations.

1 2 Agl

2. 1 NazPO4
3. 1 BasN;
4. 1 TiCly
5. 3 CaCl;
6. 2 NaBr
7. 1 Mg(OH);
8. 4 FeS

9. 1 PCls
10. 1 C2HsO
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1 Ag>S + 2 Nal
3 NacCl + 1 H3PO4
3 Ba(OH), + 2 NH3
1 TiO; + 4 HCI
1 Cag(POs), + 6  NaCl
2 NaCl + 1 Br,

MgC, + 2 H,0

Fe,03 + 4 SO,

H3PO4 + 5 HCI
2 CO; + 3 H.0



